St Denys Primary School

Spellings and Times Tables

Week beginning:
_ 22" June 2020 -

Creativity, Choice, Challenge
Achievement for All




Week 4 Spellings

Each week you will have 10 new spelling words - with a choice of 2 levels.

Some of the 10 spellings will help you investigate and learn a spelling pattern.

Others will be from our Year 4 spelling mat or are common exception words.

We suggest a structure like this for the week, based on 10-15 minutes’ practice per day:

Session
1

Choose your spelling level for this week, or which spellings you are going
to 'mix and match' (be honest about which one will be the right challenge
for you). Get someone to test you and work out which ones from the list
you will really need to focus on (remember to aim to learn about 5
spellings a week).

Session
2

Complete Look, Cover, Write, Check for your focus spellings (5-8 words
you chose yesterday).

Investigate the spelling pattern with Activity sheet 1.

Session
3

Write your focus spellings in sentences to show you understand what
they mean.

Session
5

Test! Ask someone fo test you on your spelling words. How many did you
learn this week?

You could also use Activity sheet 2 to investigate the spelling pattern
further.

Level 1 Level 2
ache scheme
echo choir

stomach chalet
school chic
heart knot
gold not
old missed
young mist
fast monarch
floor chauffeur




Look, Say, Cover, Write and Check!

Tick the columns as you follow the instructions from left to right. Make sure you spell the words in
the “write’ column. If you spell the word incorrectly, write it again in the correction column.

look |[say |cover | write check | correction

Look, Say, Cover, Write and Check!

Tick the columns as you follow the instructions from left to right. Make sure you spell the words in
the ‘write’ column. If you spell the word incorrectly, write it again in the correction column,

look |say | cover | write check | correction




Activity Sheet

1

Term 3 Set 2 Week 5

[ Words spelt with a ch sometimes

have a k sound or even a sh sound.

J

scheme chalet ache chemist
chic choir charade chaos
echo parachute mechanic quiche
machete  stomach champagne moustache
monarch  orchestra chauffeur chandelier

I'm collecting all ¢h words I'm collecting all ¢ch words
that sound like they have that sound like they have
been spelt with a k. been spelt with a sh.
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Activity Sheet
Term 3 Set 2 Week 6

Y

" Use the words in the box to complete the
sentences below.

chalet choir quiche ache
champagne chemist stomach echo

Miss Seed is looking for people who
want to sing in the school :

Would you stop repeating everything | say?
It sounds like there’s an in the class.

ﬂ ——  We’re going to stay in a in France. ]
Mum says she’s going to eat
o oysters and drink :

—— I've got a terrible in my head.J

We'll have to go to the
to get some medicine.

O

SPELLING YEAR 4

£ Copyright HeadStart Frimary Lid



Name: Week 1 Session 1
. 2019-20
Times Tables 2,4,8
. 2x, 4x, 8x tables Week 4
Rock Stars Times Tables 5 2 week
Licensed to St Denys Primary School
1 8x12= 21 8x3= 41 11 x 2 =
2 8x7= 22 2x7= 42 4x8= Time taken
3 8x6= 23 2x2= 43 8x8=
- — 3 minute time limit &
4 4x1= 24 8x2= 44 1x8=
T - E—— Score
5 8x3= 25 2x8= 45 7x8=
6 8x4= 26 4x1= 46 8 x 4= 60
7 8x1l= 27 8x8= 47 6X4=
- E— What's your rock status?
8 4x9= 28 8x5= 48 2x2=
9 2x5= 29 2 x10= 49 5x 2= < 18 correct in 3 mins
10 8x1= 30 8 x 4= 50 3x8= 18-19 correct in 3 mins
il 2Xx2= 31 3x8= 51 9x 4= 20-21 correct in 3 mins
T K<
12 2x8= 32 5x2= 52 3x8= 22-24 correct in 3 mins
- S DA
13 4x12= 33 10 X 4 = 53 5% 4= 25-29 correct in 3 mins
- T BRUAKTHROUGH ARTLT
14 2X6= 34 12 x2= 54 11 x 8 = 30-35 correct in 3 mins
15 4 X 6= 35 1%x8-= 55 8x2= 36-44 correct in 3 mins
HEADUINER
16 2x1= 36 3x8= 56 12 x 4 = 45-59 correct in 3 mins
- o T Rodk2TAR
17 2X3= 37 4 x2= 57 6 %8 = All correct in < 3mins
Ko<k LEGEND
18 8x 8= 38 5% 4 = 58 2 x 2= All correct in < 2min
Ro<k HERo
19 4x4= 39 2X8= 59 1x2= All correct in < 1 min
20 8x1= 40 5x%x 8= 60 6X2=

©Maths Circle Ltd 2020



Name: Week 1 Session 2

Times Tables 2,4,8 2013-20
. 2X, 4x, 8x tables Week 4
Rock Stars Times Tables = 2 week
Licensed to St Denys Primary School
1 2 13 4 25 4 37 2 49 8
x 1 x 10 X9 X 2 X3
- Time taken
2 8 14 4 26 8 38 4 50 8
x5 X7 X 12 X 12 X 3
3 minute time limit &
3 8 15 8 27 8 39 4 51 8 Score
X 2 X 3 X 4 X 3 X 12
4 2 16 2 28 4 40 4 52 2 60
x5 X 8 X 6 x 10 x 11
What's your rock status?
5 4 17 2 29 4 41 8 53 8
x 9 X 2 X 10 X 6 X3
< 18 correct in 3 mins
6 4 18 2 30 8 42 2 54 8 s ADALE BAdkED
X5 X 3 X 4 X5 x7 CARAGE RO Iﬁ‘Eﬁ
18-19 correct in 3 mins
7 8 19 4 31 8 43 2 55 8 20-21 correct in 3 mins
x 9 x 4 x 12 X 4 x 4 LI LER
SI44ER
- 22-24 correct in 3 mins
JIN /\’ \/" :/ ‘J’ ~
8 8 20 8 32 4 44 4 56 8 UNASNED A<T
X 2 X9 X 12 x 10 X 2 25-29 correct in 3 mins
BREAKTHROUGH ARTIZT
30-35 correct in 3 mins
9 4 21 4 33 2 45 8 57 2 SIDDADT AdT
X 6 x 9 X 8 x 11 x 4 7U|TI'
36-44 correct in 3 mins
- - - 7 HEADUINER
10 8 22 8 34 4 46 4 58 8 45-59 correct in 3 mins
X3 x 11 x5 x 9 X 3 )
o<k #TAR
[ - - . All correct in < 3mins
RO<k LEGSEND
11 4 23 4 35 8 47 2 59 4 704 LESEND
X9 X1 X 3 X5 X1 All correct in < 2min
Rodk HERO
All correct in < 1 min
12 8 24 2 36 8 48 2 60 4 . o
X 12 x 1 X 3 X 9 X 12 TUMES TABLES
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Name: Week 1 Session 3
i 2019-20
Times Tables 2,4,8
. 2x, 4x, 8x tables Week 4
Rock Stars Times Tables = 2 week
Licensed to St Denys Primary School
1 2x11= 21 4x9= 41 12x4=
2 4x11= 22 4%x9= 42 12 x 8 = Time taken
3 2x10= 23 2x4= 43 12x2=
— — — 3 minute time limit &
4 4x12= 24 8x8= 44 12 x 4 =
- - - Score
5 2x11= 25 8x1= 45 7 X 4=
6 2x5= 26 4% 4= 46 7x2= 60
7 8x5= 27 2x8= 47 11x2=
- B E— What's your rock status?
8 4%x9= 28 4x11= 48 6x2=
9 4 x10= 29 2x 4= 49 3x 4= < 18 correct in 3 mins
10 4x9= 30 4X6= 50 8 x 4= 18-19 correct in 3 mins
11 4 x10 = 31 4% 8= 51 12 x 8 = 20-21 correct in 3 mins
o T GK&ER
12 8x12= 32 11 x 8 = 52 5% 4= 22-24 correct in 3 mins
UNZAGNED AT
13 2%x 7= 33 12 X 8 = 53 1x4= 25-29 correct in 3 mins
BREAKTHROUGH ARTIST
14 8 X 6= 34 1x8= 54 2 x 8= 30-35 correct in 3 mins
15 2%x4= 35 2X8= 55 5%x2= 36-44 correct in 3 mins
HEADUINER
16 4 x10= 36 4x2= 56 12 x 2 = 45-59 correct in 3 mins
17 4x11= 37 12 X 4 = 57 9x2= All correct in < 3mins
o<k LEGEND
18 4x1= 38 3x2= 58 8x8= All correct in < 2min
19 4x7= 39 3x4= 59 11 X 2 = All correct in < 1 min
20 2x12 = 40 12 x 8= 60 3x4=

©Maths Circle Ltd 2020




Name: Week 1 Session 4

Times Tables 2,4,8 2013-20
. 2X, 4x, 8x tables Week 4
Rock Stars Times Tables 5 a week
Licensed to St Denys Primary School
1 4 13 4 25 2 37 2 49 2
X 8 X 2 X9 X 3 X 4
- Time taken
2 8 14 2 26 4 38 2 50 8
X 6 X 8 X 5 X 12 X 6
3 minute time limit &
3 4 15 4 27 2 39 8 51 2 Score
X 8 X 6 X 7 X 12 x 11
4 2 16 2 28 4 40 8 52 8 60
x 10 x 10 x 10 x 10 X 6
What's your rock status?
5 2 17 8 29 8 41 8 53 8
X 6 X 6 X 6 X 6 X3
< 18 correct in 3 mins
6 2 18 4 30 4 42 4 54 4 2 ABACE BadkFD
X1 x7 X 2 X 6 X 6 CARASE {O Iﬁ‘Eﬁ
18-19 correct in 3 mins
BUSKER
7 4 19 4 31 8 43 4 55 8 20-21 correct in 3 mins
X 4 X 5 x 1 x 1 X 12 CILLER
4T
- 22-24 correct in 3 mins
JIN /\’ \/" :/ ‘J’ ~
8 2 20 8 32 2 44 4 56 2 UNASNED A<T
X 6 X 6 x 1 X 3 x 11 25-29 correct in 3 mins
BREAKTHROUGH ARTIZT
30-35 correct in 3 mins
9 2 21 8 33 4 45 2 57 4 AUDDART AdT
x 10 X 6 x 1 X 9 x 10 F7UPPORT:
36-44 correct in 3 mins
- - - T HEADUINER
10 2 22 2 34 4 46 4 58 4 45-59 correct in 3 mins
x 12 X 4 X 6 X 4 x 8 Adl 2 AR
o<k #TAR
[ - - . All correct in < 3mins
RO<k LEGEND
11 8 23 2 35 2 47 2 59 2 704 LESEND
X 3 X 12 X 8 X 8 X 8 All correct in < 2min
All correct in < 1 min
12 8 24 4 36 4 48 2 60 2 . o
X 4 x 11 x 1 X 9 X 3 TUMES TABLES

©Maths Circle Ltd 2020



Name:

Times Tables
Rock Stars

Times Tables

2,4,8

Week 1 Session 5
2019-20

2x, 4x, 8x tables Week 4
5 a week

Licensed to St Denys Primary School

1

10

11

12

13

14

15

16

17

18

19

20

8§x5=

8X6=

8 x8=

4x12=

8 x8=

2x7=

2%X9=

2xX71=

4x7=

2X2=

8x7=

8x7=

8 x10 =

4x9=

8x2=

8 X 6=

2Xx4=

8x3=

2x5=

4%8=

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

2X6=

2x12 =

8x5=

4 x2=

2Xx7=

2x9=

2x5=

8x7=

4x11=

2x11 =

12 x4 =

8x2=

11x2=

6x4=

1x2=

6x8=

9x4=

1x4=

12 x2 =

9x4=

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

©Maths Circle Ltd 2020

6% 4=

8x4=

6%xX2=

12 x2=

2x4=

6x4=

12 x4 =

4x4=

4x4=

12 x 8 =

10 x 8 =

3x4=

6x4=

2X2=

12 x4 =

10 x 4 =

7x8=

7x8=

11 x2=

7x4=

Time taken

3 minute time limit &

Score

60

Add up your time

Mins
S1
S2
S3
S4
S5

Total

Secs
S1
S2
S3
sS4
S5

Total

Add up your score
S1
S2
S3
S4
S5

Total
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